Section 2.4 - Derivatives of Other Trig Functions

Given that f(x)=Tan(x)

= FIx_] ¢= Tan[x]
frix]
fp[x_] :=Sec[x]"2

out-]= Sec[X] 2

y = tan(x) y = sec?(x)
4 4
2 2
Outf«J:
—1 1 2 I_3H”_2””_1 IIIIIIII 1””2H”3I
-2 -2
-4 -4




2 | 2.4key.nb

Given that f(x)=Cot(x)

nsooy= F[X_] ¢= Cot[x]
f'[x]
fp[x_] := -Csc[x]?

ousotl= —Csc[Xx] 2

y = —¢sc?(x)
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out[303]=
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Given that f(x)=Sec(x)

ngo7i= F[X_] ¢= Sec[x]
frix]
fp[x_] := Sec[x] Tan[x]

outgosl= Sec[x] Tan[x]

out[310]=

y = sec(x) tan(x)
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Given that f(x)=Csc(x)

na2oj= F[X_] ¢= Csc[x]
frix]
fp[x_] := -Cot[x] Csc[x]

ouizetl= —Cot[x] Csc[x]

y = csc(x) —cot(x) csc(x)
4t 4}
2t 2t
Out[3283]=
-3 -2 - 1 1 | 1
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